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Let X= cﬂ: woJ«\ric Sfa,c,e, w/ CO\)eAIj climc«.siom En ’nn.e_re, excsts

o Cts T«.é_e,o‘l"iue, vnq_f :f’ X — ﬂlm' .
X = ManZ:‘;li ff X = embedded waw;“ro(cl .
X =space , € X = B w) L) =cpb Huen € i closed

CeX closed. Spse ye MY~ ()
HR | B, () = cpt
By ype, T (B () = coppact
K= SNt (B0) = ompack  (clused of opt = cyb)
= F(R) = eyt = closed (%= Haws) ad F(K) ¢ P (c)
ye V= B~ ¥(K) = open.
2efle) vV = J xe (@ aC ¢ K st P=-2
= z e f(K)
=) z2£V
= yeVe RV~ ¥$()
= F(Q) = closed

X = manifild. ®, Rw 3 1:X - R, st :rP"(c,{é)= et
Cf)t = K = f‘( [0,i]) < f-'(f:’ﬁ*‘)) < it (Kind)
Note X = Uk ki
ept = Ki~ b (Kis ) =Ci ¢ Wi = b (Kie) S Kien = open
X< noermal + Ueyshn => Jcbs pi: XK = My

© ,0{(0;)= 1

& 10,‘(X~U.;)=O.
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27 Thv“, 3 d’s, closeé, ;“;\ tﬁ{: Di = Kigr ~ iw'l'(Ki-z) — R
'Defin.e, /)L-; ' X —> ”fm*l ]a)/
L) -1 (%) , X Wi

()

¥ (x) =

, else

Debr P X — nzm‘j)

A (%) = (-.Z”,, i (%) , EJ& i (x) i’(x))

S+cfi'- W= mj
> Spse A (XY = F(y)
= (0= £y
= X,y € Ci WLoe 1= even

= Y. (x) =0 VK
= i (0 = Ay (x) = £ (x)

= A(x) = (i,«(x)l shft ) = (-'f;(y), eru.é() = P (y)
=" )(:Y
SJ-¢P2= P = closed
L S(JS‘& K < W-N c,f;‘t = K= closed
closed = F(K) € 27 (pog o Rt lost @ = gt ) = cp
=> A7 (K) = cp%.
ALuw. Lemma. com‘ole,-l—es “,..o fmog
I-Lomcl'bﬁ:/
De(vﬁ Given :fo) r, - X —SY , @ lnow"'bf)/ "ﬁbw‘ io b j\ s o Maf

H: X=T =Y st B(x)= Hx,0) ad L) = HEx,D  vx.
O Somedimes wrde H(x,2)= He(x)

One ga.)z: ‘u»a.{: :Ea, f. acre ‘/mvuo"ofic
> One wntes :fo = in
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/4 l/lorwJ'oFr (‘el AE X is a l«ow.mtpf)): H’ X*xxT —= VY ¢t
He (X) s ind. of ¢ Y xeA.

A S'Ef’ara.meleri‘eo:l-:om ,@ oL: I — X 'S a .MA‘, P'- T —X st
}3= Ler wheee ' L =T plisfes (ol =0 cWY =1,

/Z_ (“el)ax‘a.m of oL = 0(3/& ('&l {O/l}

He () = u(%-r(s) « (1-4)-s) .

Note H is cts since it s pread/ S/ comp of cts funechons
Ho(s)= o (9) , () = aec)= g,

He(o) = ot (- c 03+ (1-4) -0) = o< (0)

He (Y= o2 (-« (-e)-1) = o (1)

m() :f X - Y is a L.om-klo/ eiu.wa(eu.c,e. n{-\ 3 a mr j
st fo °g = 1 , 9 ey,

= X,Y are Sani lo be ‘A»M-Foﬂ/ egu.ivalewl',

O \Wete X2Y.
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Xey = XY bt X=V 3 Xev.
Which lekters are ]Aowiopy e_guiualewl' . A) B) C’; D) O, 'P’ QJ S (P

R" « ot .

TR =t $(x)=0

gt ok, ghn-e

Feq =y

oty = - Hod= o), Hi(X)= x = He bye, g0 =4

© X is c,ov\‘l\(a.c'l'llole I'F X&P'E
) \‘ﬁ’ X - Y is VUA“ll\,ovmol'bPiC of izoovts-l'awlt wap.

A tedochion of X ok ASX s a cbs map @ XK= X st
cla=4r, c(X)= A

A Aef‘orma—“ﬂ'm\ rehachion s a ‘/Lom-.‘-pry cel. A H: XxT — X st
Ho = ﬁx and H\ = r‘e~l~m_c+io(\ a-n"‘o A
i Sa.y X Jeﬁrma‘(ﬁpn re*m,c:('s en‘lﬁ A

X defs cedacks ok A = Xe= A.

Let X — r(X)=A € X Le dhe rebract
Let i A — X be dhe trelusion.

rei =24 by defn

Let He = Vpby abwe. Ho=dx, = = ier =ir=dy, O



Ex -

Ex'

Ex:

Lol ek spaces dedo reback ando e \)lue?
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SlXI Ae‘f’crma‘(,\'o« cetracts onto S'x ic’k

) ;l:(sx:)q e ST uy He(8,3) = (6, 5-(-0)
(O =
( ,&S'] (8,5) ) H,(O,sl} = (6,0) ) H, (6,0) = (8,0)

Y

H=d -
H = refadh He = la(by cel. S'< 10,
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